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| Physics

107/04/2021 Time: 3-4:30pm |Max Marks: 50 Elective: N
Note: Answer any 2 full questions, choosing one full question from each part.

QN Questions Marks|RBT CO'S]
: PART A |

1[aState and explain Hooke’s Law. Explain the nature of | 10|12 CO1

| elasticity with the help of stress-strain diagram

: ibil)eri\’e the relation between bulk modulus (K), 10 |L2|COl
| | iYoung’s modulus (Y) and o.
| |

|

| e kialculate the force required to produce an extensionof | ~5 |L3|COl
' 1mm in steel wire of length 2m and diameter 1mm.
(Y=2x10"N/m?)

OR
12 a!Deﬁne Young’s modules of materials. Derive an 10 |L1|CO1
- | lexpression for the Young’s modulus of a beam using &L
single cantilever method 0

.'

" 'b/What are the types of Elastic moduli? Mention various | 10 |L1|COl

'i | types of beams and their engineering applications &L
| 2

1.5m, radius 0.0425x10*m through an angle of (/45
' radians, if the value of rigidity modulus of the material
|| s 8.3x10"N/m’

‘¢/Calculate the torque required to twist a wire of length 5 [L31CO1
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